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Ix| onto f(x) = —> |x+3] +7?

10.  What transformations map f(x) = a
Fpff 3, 4f Ty ffect v o s g G
w e gb %F

|x]. My parent function is mapped onto me by a

11. |am a function. My p, g%}&lgction is f(x) =
ertical shift 4 units up, and

reflection over the line y = 0, then a horizontal shift three units to the right, av
finally a vertical stretch with a factor of 2. Who am I? ©

Pr)=-2 -2l +4

12. | am a function. My parent function is f(x) = x2. My parent function is mapped onto me by a
reflection over the line y = 0, then a horizontal shift 2 units to the left, a vertical shift 7 units down, and

finally a vertical stretch with a factor of 3/2. Whoam I? ©

fo)="30+2) ="

13-15: What's my function? State the equation/inequality for each function graphed. |
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